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01).
Bedy S oD LI,
() 10x+8 = [ |x5x+ x4y = (CJ+)
@ Cx-C = Ccx[]-cx[] = O(E1-)
(i) 12x+20y = [ |x3x+ x5y = ( + )
(v) 10x-25 = x2c- [Ix[1= [J(J-)
® w+3 = [Po+dx1 = (O+0O)
02).
3B LGEDIRBDE @3¢, 3002 DY 20 Beazi.
@) Sx+15 (ii) 6x-6 (i) 10-10x
(iv) 4x+8 (v) 8y-24 (vi) 4x+6y
(vii) 12x-18y (viii) mx - my (ix) xy+y
x) Y-y (xi) 2x"-6x (xii) 5x’y-10x"
03).
@20¢ 3002 @03 3 Busiw.
(@ 3x+6y+9 (i) 12x+15y+6z (iii) 8a-4+2b
(iv) 15-10x+15y (v) 15x-20y+10 (vi) xa+xb+xc
(vii) xa’+xa-x (viid) Y’ +y' +y (ix) a’x-d'y+a'z
(x) 18x’-12xy+9x)”
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(viii) 15p-10g +5

(04).
B B3 YoOTIB.
G 3x+12 = 3([J+[])
(i) 5x- = 5([]-4)
(iii) xy = x(x-[])
(iv) 4x-x+xp = x( - + )
o Y-5Sy+ = (y-[1+8)
(vi) 12a-18b+6 = (2¢-1+ )
wii) 4m*-[]-12m = 4m(m- 3n - [])
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